(5.3.21 - Quick Maths ) | B
: 0 2,356 -1,265 =
A  ©Multiply each of these by 10 62 567 + = 600
30 16 15 2 06,000 - = 4,590
o _ o1/4+1/2 =
2 ~ d|\i|$ed by 7 = 52 03% 6= «2  20em
’ C ’ ’ Explain
o Complete - ——
re tnere 10ts
210 of possibilities? | 1S X 6cm? Why? By
| | Why?
Challenge Investigation

Caroline saves the same amount

of money each month. l . .
She saves €420 in 3 months. f ) @

How much does she save in a

year? What is the fewest number of
coins you need to make
(a) 83p (b) £1.34 (c) £5.27?
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Lea,mmg Objective.:

Toda,y [ am Lea,mmg to- count and calculate rwga,twvz,

numhbers
| | | |
~ ikl ~N
ﬁeu Wseahalan \T Success Criteria B
1 . n;gattve —zedro | [ | will be successful if [can - |
| - more than/less than/eq/u.al, a o/do,nt‘gcy a negative B
| - numberline | number. 1
- positive o Count in negative numhbers.
N\ temperature / o Calculate the diﬁcereme of
_A negative numhers. -
o Show and represent L
_Use the White Rose slides/video to | nzga,tva, numhers. /
support these teaching slides before

N ]

 you complete the main task.
) O A A
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{Flashback 41 )

B § ashoa@kly

TN Complete
I

[ gof =5

2) Caleulate 5 — g

3) Complete the sentence.

CT T T T

m C LT T T There are fifths altogether.
J [ T 1 -

4)  Find the product of 139 and 5
White

— Rose
Maths

| | | | | | | | | | | | |
~Complete this as quickly as you can (verbally or

S ———
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Quick Review! -
Roman Numerals

Write your answer as a number or Roman Numeral

XIII rounded to the nearest 10 is
XXVI rounded to the nearest 10 is
XLIX rounded to the nearest 10 is

- Can you write three questions
where the answer would be 502
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Negative Numbers

—Negative numbers are numbers
below zero (0)

~Complete this as quickly as you can (verbally or

S ———
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-109 -8 -7 6 -5 4 -3 -2 1 12 3 45 67 8 910

|
0
< “:Lm >

Negative numbers Positive numbers

The numbers less than zero are negative numbers.

Which do you think is largere =7 or —-2¢ -8 or 02

For negative numbers what might seem to be a larger number is in fact
smaller. On the number line the negative numbers are to the LEFT of zero.

-5 is less than 4 because -5 lies to the left of 4 on the number line. -1 is
greater than -3 because it lies to the RIGHT of -3 on the number line.
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NN
Negative Numbers | < = or >
/ Try these -
20 - 20 -10+5__ -5
4 -8 -4 + 6 S
\_ .

Negative Numbers

i,

)

G0

<=o0r>- =
Ted thinks that if counts -
forwards 10 from -10,
the answer would be
-20. -
Ted is because




Negative Numbers

| ol o

Ted thinks the halfway -

point between -15 and

11is 8. 1s he right?

Prove it using a

numberline

e
{MdlanSk
7\ |21| \ \ \ \
~Negative Numbers




Challenges

- — | know... 50...

Can you spot the mistake in these number sequences?

" The difference between =2 and 5is 7

— 2)2,0,0,-2,-4 N
 b)l,-2,—4,—6,8 — The difference between =2 and 4is___
_ ¢)5,0,-5,-10,-20 _ The difference between =3 and 4is

Explain how you found the mistake and convince me  The difference between =3 and __is §
— you are correct. B

B L O = M W s n
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R
{True or False?

ruearFalse

-25 degrees is warmer

than -5 degrees.
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